PITT Qube PSK-640X-AAA-2
ORMEASEBROBEFT>TEY A, ORMMEFERKERTRIDDYET,
OXRTMEFIOEERIEEENTEY A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/03/26 14:18:01




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

PSK-640X-AAA-2
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

No. mE & g - ME ERE  Eff S

1 039819104  |PSK-32 100V &-§-3 1 14,600

2 039034702  |PSK-40X 1~y IV vV NBR 1 700](N)
3 039027302  |PSK-32 XN vk NBR 1 300](N)
4 034015301 [SM N AVN hxo M6x8 SUS |1 200 ﬁ\/j\)A-O.AAAJ CREREL
5 039034602  |PSK-40X 7~y PP 1 3,000

6 039034802  |PSK-40X EMR PP T 2,800

7 039026206  |PSK-32 60HZ /A5 ;}r U7E8-b £y |1 500

8 039034905 |PSK-640X-AAA25 N )L FOY7 40k 1 200

9 039028302  |PSK-32& A I TR0 740k 1 500|(N)
70 [039029504 |PSK-32&&d— R VCT222 0.75]1 5,100

4m PVC

11 |039026603  |PSK-32 Xh=hly-N h- v+E539) |1 4,100

12 039092701  |PSK-32 AWy 1 500|(N)
13 |034015301 [SM N AN hxY M6x8 SUS |1 200|(N)
14 034014203 [SM v-W)v5 NBR 2 200|(N)
15 034032901 [SM-20 47A"3h5- SUS T 200|(N)
16  |718505066 |[+FAMIvEYTXY 2655 2@ |3 200|(N)
17 |718505058 |[+FAMIvEYTxY gago 2/ |9 200|(N)
18 |703305104 |[+FANFRNXDFE M5x20 SUS |2 200

19 [039029901 |[+FAME 5AXIFLE M5x22 SUS |5 200|(N)
20 |827405006 |~AF v b M61%EHR |1 200|(N)

SUS

21  |843805006 |\xEE& ¢ 6SUS T 200|(N)
22 |846205006 |TE& EH b 6SUS |1 200|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/26 14:18:01




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

PSK-640X-AAA-2

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. & mf B - ME B Eff -5
23  |707805046 |[N\RELMEATFREFNNRY M5x12 SUS |1 200
24 0108542 PA-043 40MM 7° 5133y 543 1 1,000({PA-043(4971770-100428)
25  [940019046  [f-an" Vb ¢ 46 1 200((N)
26  [039010102 [PS-400-7° 5 m#{0y 1 500
27  |846005005 |[FmE£ N 9 200|(N)
¢ 5SUS
28 034085802 ([SM Z&ESANIL FhayIIN - 1 200|(N)
T0.05
29  |039070902 [PZ-50A #£° -}7° -} SUST2.0 1 700((N)
30 039003101  |PS-40 13-} ##° -4- 1 200|(N)
31 026001801  |BL-3224 1-}" n° YN SuUS 1 200((N)
32 039821101  |PSK-40X-1707b7" 393 1 3,200
00 (039038301  |R&IN 574V 1Y 1 500|fEF£ : 70cc
100CCA
00 039061802  |PSK-32 Ayp 1°vfY 1 400[E-9-PER & (N)
00 [|708119037 [N 3EEL +/NEUIESHIATA 129 M4 x10SW]|1 200(t-9-HER & (N)
RM
00 |039060602 |PSK-32 T00VAIYF v 16 u F 200VA|1 2,400(t-9-ER &
C
00 (039020919  |PSKFISCEX:R A5 P16 1 700((N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/26 14:18:01




